2014/1 5Ef§?§ﬁ§%E%@(;}J?@Eé&?ﬁgéééﬁﬂﬁﬁﬁE

2013/145F = 2013/144EfE é);gi‘/igé%%
EERTERIER B ER AR TH e
HEciRE ~ (483D (&)
(&) &) (12112013
1. HREZ®
(a) ek A ,}J%#?{,%‘F f 20 25 20
(b) v = %ﬁ' IFIEY
(i) ﬁi’ﬁgfﬁﬁ
(i) ¥ = z{,gw 426 446 467
(i[5! 7 BEV
(c) H arEn
(i) [pset = BB Rt 14 15 15
(ii) [enF= 10 470 13 499 13
(d) W fj2014 150 665
2. BE - AR ERET 50 50 55 55 40 40
3. HERREE®
(a) ﬁ B 100 110 70
(b) E IR
() = 1 [f”!, 10 10 10
(ii) Ean%ma i 110 120 80
4. BMRBEHEREE
(@) * gwg; BRI 20 36 20
(b) %fg;ﬁfﬁw%ﬁpafﬁmﬁﬁﬁ 4 24 4 40 4 24
5 HWEIRKRREEEEREE 5 5 0_ 0y 0_ 0
6. X{LREMEXEEE 100 100 130 130 100 100
7. REHE¥REWNEER
(@) ¥ BAIG F 5 f 20 20 20
(b) ¥ B B 20 20 20
(©) W B ) #fﬁﬁzvﬂf f 10 15 10
(d) ¥ pl 53 Ea;f 12 12 12
(e) %’ﬁ*inﬁ;’:%‘ﬁﬁ 12 12 12
(F) W[ 153 B £ 12 86 2 9 12 86
8. th = I ER
(a) ¥+ Ewtﬁal;a&r 7a 20 20 20
(b) W T 1?'5' 10 10 10
(c) N AR i 10 10 10
(d)ﬁulrsa%f,# ﬁ 5 5 5
(&) W Tt = f 5 5 5
(f) ey 50 100 80 130 65 115
9. Hftb
(a) = g fip 100 100 84 84 115
(b) = U AR Y 150 150 150 150 1503
©) [lRFET 5 5 81 8l jzwfs=r 5 270
&% 1200 1380 2 1380 4
(1) WEIRESREEEEESERSETARIEHRTEAPRERHE @ E RGeS E TP REY - PATEESHE
BRBSIET -
FE(2) 2013/14FEARBIERGER AL 1508 7T - HFRSOE LIS EHEE UL BHNEE) - WFRRHIBERAIE20% - #BTFRE 41,380

Bt e

FE(3) TAAT#E20145F3A3IAMER @ EERFE20L4/IFENESNERNALISETT

FE(4) TAAT2014/15FERIARIBRERAL 1508 T » M FREHERERAIE20%0 82308 T °

RrFF =



	P3

